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Name-_ _ Start time- _ _: _ Endtime-_ _: _
Divide 3 digit by 1 digit with remainder:
7 | 449 6 | 623 6 | 268 6 | 839

Word problems:

1.

If the capacity of a theatre is 540 people, how many rows are
there if each row can accommodate only 2 people and there are
equal number of seats in each row?

Robin purchased books worth S 180. If one book cost him $ 6,
how many books did he purchase?

How many equal groups can be formed of 720 pencils if there
should be 8 pencils in each group?

The total train fare for 8 persons is $854. What is the fare for 1
person.

9 bags of cement can be loaded in a truck. How many such trucks
will be needed to load 585 bags?

A vet gives the dogs 4 bones each. She used 244 bones. How

many dogs got bones?

2 3 5 6 8 9
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